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Note that we kept upto first order in the



expansion It can be cheeked that this is enough

for our main perpose and neglecting higherorder
terms will not make any loss of generality
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Since Yen vanishes at each a ai we have 8 yea D at

each se ni total area under the curve is sum of all
indivitual curves

in dx fees 8en is same as
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b Consider an arbitrary function flu which
is well behaved with interval 0 to to

Let us now start with the integration
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Now as fer is completely arbitrary
one obtains
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